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series { start=YYYY.M 
     span=(2005.1,2012.12) 

                   decimals=1 } 
            transform { function = log } 
            arima  { model=(011)(011) } 
            regression{variables=(td1nolpyear  lpyear) regression { }  
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                       save = (td hol) 
                       user = (jap-hol) 
                       usertype=holiday 
                     start=YYYY.M 
                     file=”XXXXXXXXXXXXXX”} 
            forecast{ maxlead=12 } 
            estimate{ save = ( mdl ) 
                     maxiter = 500 } 
            x11 { print = (none + d10+d11+d16) 
                 save = (d10 d11 d16) 
                 seasonalma = x11default } 

 

- 3 -



- 4 -



- 5 -



- 6 -



- 7 -



- 8 -



- 9 -



- 10 -



- 11 -



- 12 -



- 13 -



- 14 -



- 15 -



- 16 -



- 17 -



- 18 -



- 19 -



- 20 -



- 21 -



- 22 -



- 23 -



- 24 -





 25 



 26 



 27 



 28 



 29 



 30 



 31 



 32 



 33 



 34 



 35 



 36 



 37 



 38 



 39 



 40 



 41 



 42 



 43 



 44 



 45 



 46 



 47 



 48 



 49 



 50 



 51 



 52 



 53 



 54 



 55 



 56 



 57 



 58 



 59 



 60 



  
 
         
   
 - -
   - -

http://www pref saitama lg jp/A /BP /index html 

 


